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1.   When two similar experiments yield different conclusions, which of the following would not be a way of determining which conclusion is more accurate?

A.  Conduct another experiment to examine the same issue.

B. Examine the details of both experiment methods.

C. Reevaluate both experiments’ data.

D. Survey many scientists to see which conclusion makes the most sense to them.

2.  A large bus travels city streets.  It takes the bus 10 seconds to cross each city block.  It all of the city blocks are the same length, what can be said about the bus?

A.  It is accelerating.

B. It is decelerating.

C. It is moving with a constant velocity.

D. It is moving with varying acceleration.

3.  Which cell structure carries out a similar function for a cell that bark does for a tree?
A.  Cell wall

B. Nucleus

C. Chloroplast

D. Mitochondrion

4.  Which of the following interactions between organisms is parasitic?

A.   A nonpoisonous snake mimicking a poisonous snake

B.  A mosquito sucking blood from a dog

C. A cleaner shrimp removing dead skin from a large fish

D. A bee gathering nectar from a flower

5.   In which type of rock are fossils most likely to be found?
A.  Igneous rocks are most likely to contain fossils.

B. Sedimentary rocks are most likely to contain fossils.

C. Metamorphic rocks are most likely to contain fossils.

D. All rock types are equally likely to contain fossils.
